ONOMA (NAME):

Epyacia 21 - Greek Math - (Homework) 21

(2A,2B,2¢C,2D,2E)

Dear Scholars,

This week we will be revising the number’s Greek name up o 1000, counting by
1,2,3,45,6,7,8,9 intfroducing Multiplication. We will analyze the value of a humber

(hundreds, tens, ones) and learn to identify (greater/smaller/equal/half/double)
3/2/1 digit numbers, using symbols (+,-,(),=,>,< ) and properties in addition -
subtraction problems. Mental Maths: (Completion of a multiple of 10), (Three/two

digit plus a single/two digit integer), (Two digit minus a single/two digit integer).
———

QUIZ will be taken, in class, on Wednesday 4/30/2025. :
\‘\YQ
Dear Parents,

Your children have been practicing similar exercises in class. Along with the

example given the beginning of each exercise, they are able to complete the task.

Please, remind them to submit the packet on Archie, on Sunday 5/4/2025.
Please, encourage your child to complete the assigned homework.

If you have any questions or concerns, please, contact me through email at:
ilias.papadopoulos@archimedean.org.

Thank you,

Mr Elias Papadopoulos
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AR ERER

Aoknon 1: 2képtopail, AUvw ocwoTa Kai ypdew Tn

AUon pe kai A£En 6w oTo mapdadeiypa:
T2

> (5x4)+(6x5)=20+ 30 = |50 meviivid \— —

> (4x9)-(B8x3)=36-24-= Bwﬁsm‘ 2 Ty

> (B x 11) + (5 x 10) =
> (6x4)-(@x5)-=
> (Tx5)+0Bx4-=
> 4x2)-(1x5)=
> 9x11)+(Bx1)=
> Bx4)-(@x6)-=
> Bx5)+(Bx3)-=
> (5 x 10) - (4 x 10) =
> @x9)+(7x1)=

» (1 x11) - (0 x 11) =
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Aoknon 2: Bpec 1O yivouevo TwWv aplOpwy, onwe

oTo mapadeiypa:
> (0 X évreka) = |0 g
> (1 X 3tka) = (10

> (7 X unBév) =

> (9 X enTa) =

> (0 X oktw) =

> (4 X Téooepa) =
> (6 X 0®éka) =

> (3 X mévre) =
> (8 X éva) =

> (2 X 7pia) =

> (11 X evvéa) =
> (10 X ¢&&1) =
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Aoknon 3: ZkégTopal Kai AUvw owoTa,

XPNOIHOTTOIWVTAG ThV
a x (P+y)=(a x p)+(a x y) 6Twg oTo wapadeiypa:
>2x(5+3) = (2 x5) + (2 x 3) = 10+6 = [16] Zazs=

>3xM@+1)=Bx4)+ (3 x1)=12+3 = ==

> 4x(6+):

> 2)((5-!-):

> 4)((5-!-):

> 3x(4+):

> 5x(5+):

> 7x(4+):

> 8x(5+):

> 6x(5+):

> 9x(4+):

> 8 x (7+0) =
EEEEEEEEEEEEEEEEEEEEEEE]E
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Aoknon 4: Zkégtopal Kai AUvw owoTa,

XPNOILOTIOIWVTAG ThV ETTWEPLOTIKA BLOoTNTa:

EREEEERIRRERN orws oto mapddeivpa:
e

-)Zx(5-3)=(2x5)-(2X3)=10"6=D
.)3x(4-1)=(3x4)—(3x1)=12-3=D

>

>

>

>

>

>

3 x (6-4) =

2 x (5-2) =

1 x (6-4) =

5 x (4-2) =

4 x (5-4) =

6 x (4-2) =

7 x (5-3) =

8 x (6-1) =

9 x (4-1) =
0x(3-1) =
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Aoknon 5: Bpec 1o yivopuevo Twv apiOpwy, onwe
oTO mapadelypa:

-)(9 X 30)=

> (8 X 90) =
. (9 X 80) =
., (8 X 40) =
. (7 X 70) =
. (6 X 60) =
. (5 X 100) =
, (4 X 50) =
. (3 X 20) =
, (2 X 70) =
. (1 X 80) =
., (0 X 800) =

X X X X X X
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